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QUESTION 1

In TOGAF, what is the difference between an artifact and a deliverable?

A. An artifact contains one or more deliverables

B. Artifacts and deliverables are synonymous; there is no difference between them

C. Deliverables are prepared by the Project Manager, whereas artifacts are defined by the Architect
D. Deliverables are reusable, whereas artifacts are unique to a given architecture project

E. Deliverables are specified as contractual outputs from a project, whereas artifacts are not

Correct Answer: E

QUESTION 2

Which of the following best describes the TOGAF Architecture Development Method?
A. A process for managing architecture requirements

B. A classification mechanism for architectures and solutions

C. A process for managing and controlling change at an enterprise-wide level

D. A view of the Architecture Repository

E. A process for developing an organization-specific enterprise architecture

Correct Answer: E

QUESTION 3

Which one of the following is the most generic artifact in the Architecture Continuum?
A. Common Systems Architecture

B. Foundation Architecture

C. Industry Architecture

D. Organization Specific Architecture

E. Product Line Architecture

Correct Answer: B

QUESTION 4
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Which of the following statements about TOGAF Building Blocks is true?

A. A good Building Block should not be composed of other Building Blocks
B. Architecture Building Blocks should be first selected in Phase D

C. Building Block specifications should be loosely coupled to implementation
D. Custom developments are known as Architecture Building Blocks

Correct Answer: C

QUESTION 5

According to TOGAF, in which sequence should Application Architecture and Data Architecture be developed in Phase
c?

A. Application Architecture should be developed first, then Data Architecture

B. Application Architecture should be developed concurrently with Data Architecture

C. Data Architecture should be developed first, then Application Architecture

D. Application Architecture and Data Architecture may be developed in either sequence

Correct Answer: D

QUESTION 6

Complete the sentence. All of the following are sections of the recommended template for defining Architecture
Principles, except

A. Name

B. Statement of Principle
C. Rationale

D. Enforcement Policy
E. Implications

Correct Answer: D

QUESTION 7

Which pair of the following responses best completes the sentence? Architecture building blocks , Whereas
Solution Building blocks

A. are assembled; are single function components
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B. are single function components; are groups of architecture building blocks
C. are reusable; are not reusable

D. define the architecture; provide the existing legacy system

E. define functionality; define the implementation of functionality

Correct Answer: E

QUESTION 8

Which of the following best describes the meaning of "Initial Level of Risk” in Risk Management?
A. The categorization after implementation of mitigating actions

B. The categorization after initial risk assessment

C. The categorization after mitigation and residual risk assessment

D. The categorization before determining and implementing mitigating actions

E. The categorization before risk identification

Correct Answer: D

QUESTION 9

Scenario:

Please read this scenario prior to answering the question

You are serving as the Lead Enterprise Architect at a major supplier in the automotive industry. The
company is headquartered in Cleveland, Ohio with manufacturing plants across the United States, Brazil,
Germany, Japan and South Korea. Each of these plants has been operating its own planning and
production scheduling systems, as well as custom developed applications that drive the automated
production equipment at each plant.

The company is implementing lean manufacturing principles to minimize waste and improve the efficiency
of all of its production operations. During a recent exercise held for internal quality improvement, it was
determined that a significant reduction in process waste could be achieved by replacing the current
planning and scheduling systems with a common Enterprise Resource Planning (ERP) system located in
the Cleveland data center. This central system would provide support to each of the plants replacing the

functionality in the existing systems. It would also eliminate the need for full data centers at each of the
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plant facilities. A reduced number of IT staff could support the remaining applications. In some cases, a
third-party contractor could provide those staff.

The Enterprise Architecture department has been operating for several years and has mature, well-
developed architecture governance and development processes that are strongly based on TOGAF 9.

At a recent meeting, the Architecture Board approved a Request for Architecture Work sponsored by the
Chief Engineer of Global Manufacturing Operations. The request covered the initial architectural
investigations and the development of a comprehensive architecture to plan the transformation.

The Common ERP Deployment architecture project team has now been formed, and the project team has
been asked to develop an Architecture Vision that will achieve the desired outcomes and benefits. Some
of the plant managers have expressed concern about the security and reliability of diving their planning
and production scheduling from a remote centralized system. The Chief Engineer wants to know how
these concerns can be addressed.

Refer to the Scenario

[Note: You should assume that the company has adopted the example set of principles that are listed and
defined in TOGAF 9, Section 23.6.] One of the earliest initiatives in the Enterprise Architecture program
was the definition of a set of architecture principles. These now need to be updated to address the
concerns raised.

You have been asked to select a set of principles most appropriate for guiding the team to define a robust
solution.

Based on TOGAF 9, which of the following is the best answer?

A. Common-use Applications, Control Technical Diversity, Ease of Use, Interoperability, Data is Shared, Data is
Accessible, Data Security

B. Business Continuity, Common-use Applications, Maximize Benefit to the Enterprise, Data is Shared, Data is
Accessible, Data Security

C. Technology Independence, Data Trustee, Information Management is Everybody\\'s Business, IT Responsibility,
Responsive Change Management

D. Service-orientation, Responsive Change Management, Business Continuity, Data is Accessible, Data Security

Correct Answer: C

QUESTION 10
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Scenario

Please read this scenario prior to answering the question

Your role is consultant to the Lead Architect within a company that manufactures electromechanical
devices. The company is organized as independent operational divisions.

The company has a mature Enterprise Architecture (EA) practice and uses the TOGAF standard for the
basis of its architecture framework. In addition to the EA program, the company has a humber of
management frameworks in use, including business planning, portfolio/project management, and
operations management. The EA program is sponsored by the CIO.

A strategic architecture has been approved that includes consolidation of multiple Enterprise Resource
Planning (ERP) applications that have been operating in several of the divisions\\' production facilities. The
goal is to replace the functionality of the existing applications with a new ERP product running as a single
instance in the company\\'s primary data center.

Each division has completed the Architecture Definition documentation required to tailor and configure the
environment to meet its own specific manufacturing requirements.

The enterprise architects have analyzed the key corporate change attributes and implementation
constraints. A consolidated gap analysis has been completed which has identified the gaps across the
Business, Data, Application, and Technology domains.

Using the results of the gap analysis, the architects have reviewed the requirements, dependencies and
interoperability requirements needed to integrate the new ERP environment into the existing environment.
The architects have completed the Business Transformation Readiness Assessment started in Phase A.
Based on all of these factors they have produced a risk assessment.

The implementation process is estimated to take four years. Because of the risks posed by the complexity
of the current environment, a phased approach is needed to implement the target architectures. The
Implementation and Migration Plan v0.1, the draft Architecture Roadmap, and the Capability Assessment
deliverables are now complete.

Refer to the Scenario.

You have been asked to recommend the next steps to prepare the final Implementation and Migration
Plan.

Based on the TOGAF standard, Version 9.2, which of the following is the best answer?
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A. You would assess how the plan impacts the other frameworks in use in the organization. The plan should be
coordinated with the business planning, portfolio/project management and operations management frameworks. You
would then assign a business value to each project, considering available resources and priorities for the projects.
Finally, you would generate the Implementation and Migration Plan.

B. You would apply the Business Value Assessment Technique to prioritize the implementation projects and project
increments. The assessment should focus on return on investment and performance evaluation criteria that can be used
to monitor the progress of the architecture transformation. You would confirm the Transition Architecture phases using
an Architecture Definition Increments Table to list the projects. You would then document the lessons learned and
generate the final plan.

C. You would place the strategic Architecture Definition and Transition Architectures under configuration control as part
of the ongoing architecture development cycle. This will ensure that the architecture remains relevant and responsive to
the needs of the enterprise. You would then produce an Implementation Governance Model to manage the lessons
learned prior to finalizing the plan. You recommend that lessons learned be accepted by the Architecture Board as
changes to the architecture without review.

D. You would conduct a series of Compliance Assessments to ensure that the implementation team is implementing the
architecture according to the contract. The Compliance Assessment should verify that the implementation team is using
the proper development methodology. It should include deployment of monitoring tools and ensure that performance
targets are being met. If they are not met, then changes to performance requirements should be identified and updated
in the Implementation and Migration Plan.

Correct Answer: A

QUESTION 11

Which one of the following statements about viewpoints is correct?
A. A viewpoint is always specific to an architecture

B. A viewpoint is used to create views in Phases E and F

C. A viewpoint is used as a template to create a view

D. A viewpoint is what a stakeholder sees

Correct Answer: C

QUESTION 12

In which part of the ADM cycle are building blocks evolved using a common platform of steps?
A. Preliminary Phase rid Phase A

B. Phases B, C and D

C. Phases E and F

D. Phases Grid H

Correct Answer: B
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QUESTION 13

Which of the following best describes the TOGAF Technical Reference Model?

A. It is a detailed data model that can be tailored to specific industries

B. It is an example of a Common Systems Architecture

C. Itis a fundamental architecture upon which more specific architectures can be based

D. It is a model of application components and application services software, including brokering applications

Correct Answer: C

QUESTION 14

According to TOGAF, who usually initiates a Request for Architecture Work?
A. The architecture organization

B. The CIO/CTO

C. The corporate governance board

D. The senior management

E. The sponsoring organization

Correct Answer: E

QUESTION 15

Scenario:

Please read this scenario prior to answering the question

The ABC company is an international agricultural company exporting bulbs, flowers and seeds worldwide.
It is headquartered in Rotterdam in the Netherlands, and has sales and distribution centers in over 60
countries worldwide. Several of these centers include administrative, manufacturing, and research
facilities.

To achieve full integration of their research capabilities with their development centers located in various
climate zones, the company wants to develop strong self-directed teams in each location. It also wants to
define new business models that are profitable while reducing their impact on the environment. The

management is deeply committed to ensuring that the company is a world leader in socially responsible
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seed development with a business strategy that focuses on profitability through environmentally friendly
operating processes.

The company international operations are subject to various legal and regulatory requirements. In areas
such as genetically modified seeds, governmental controls are strictly enforced and compliance is critical.
Recently a competitor was heavily fined for violating the regulations in a country where it was developing
pest-resistant seeds.

The Governing Board is concerned, and as a result has approved the expenditure of resources to
establish an Enterprise Architecture program. They have requested information about the status of
projects that could impact regulatory compliance. They also want to enable the corporate legal staff and
auditors to analyze proposed architectures to ensure that they are within the legal guidelines for a given
location. In addition, the research organization should be able to see that the architecture is appropriate for
its needs. TOGAF 9 has been mandated as the guiding framework for the development and evolution of
the Enterprise Architecture practice.

Refer to the Scenario

You have been appointed as the Lead Consultant.

You have been asked to recommend an approach that would enable the development of an architecture
that addresses the needs of all these parties.

Based on TOGAF 9, which of the following is the best answer?

A. Depending on the nature of the architecture, a set of models should be created that can be used to ensure that the
system will be compliant with the local regulations. Stakeholders should be able to view the models to see that their
concerns have been properly addressed.

B. Each architecture activity should be developed using a consistent modeling approach that is uniform across all
architecture projects. Each architecture should be defined based on this fixed set of models

so that all concerned parties can examine the models to ensure that their issues and concerns have

been addressed,

C. A stakeholder map should be developed that allows the architects to define groups of stakeholders sharing common
concerns. A set of views should then be defined that addresses the concerns for each group- Architecture models can
then be created for each view to address the stakeholders\\' concerns.

D. For those groups that have sufficient power and level of interest, a special report should be created that summarizes
the key features of the architecture with respect to the particular location. Each of these reports should reflect the

stakeholders\\' requirements.

Correct Answer: A

Latest OG0-093 Dumps | OG0-093 VCE Dumps | OG0-093 Practice Test 9/10


https://www.passapply.com/og0-093.html
https://www.passapply.com/og0-093.html
https://www.passapply.com/og0-093.html

VCE & PDF https://www.passapply.com/0g0-093.html
2024 Latest passapply OG0-093 PDF and VCE dumps Download
PassApply.com

Latest OG0-093 Dumps 0G0-093 VCE Dumps OG0-093 Practice Test

Latest OG0-093 Dumps | OG0-093 VCE Dumps | OG0-093 Practice Test 10/10


https://www.passapply.com/og0-093.html
https://www.passapply.com/og0-093.html
https://www.passapply.com/og0-093.html
http://www.tcpdf.org
https://www.passapply.com/og0-093.html
https://www.passapply.com/og0-093.html
https://www.passapply.com/og0-093.html

